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Grafico 2
Acabamento

o Baixo pegando na alga de tras do ponto de base

H—————— — — ——— 0 =t

o 0 o0 0 0 O 0 0 0 0 0 0 0 m o o o

»—+——+—~+—+—~—~—~————0 7] = = =

H—+—+—+—+—+— +—+—+—+—+—+—) < RZ] ) =) —_ —

o 0 0 0 0 0 0 0 0 0 0 0 0 s & o B X% Z g £

H———————— ————0 ) = = = = m m m

H—H—————————— 0 & = < m m o o °

00 0 0 0 0 0 0 0 0 0 0 0 S = S S S

#— — b — H#— — — — H— — — —0 & 5] Q =) Il e = = =

A S M M A A S M A A emnnnnwww
o o o o N N N

H————————————0 — — @) a a a a Z. Z. Z.

N N M M M M M M M M M B =

I H— o b bt b #— — — — f— +—( Q

cococcoooooowanua 0 = xx———

—++—+—————t—————0 =]

»—+———~+—+———F————0 G

0 0 0 0 0 0 0 0 0 0 0 0 0
bt bt — b b— — o ——0

H=—0

Inicie com 43 correntinhas + 3 correntinhas para virar o trabalho



